25

16
1
2003
2015 60
36 38
2015
2008 9 1 4
3
2015
2015 27 60
60
60 1

2 12

2015



60
60
1
2015
2015
2015
9
1
2 18 3
2 [3 (18

25 2

60

2012 0.192
60

2013
60

2) 0.19]
2

12



2014

30 2012
220 2013 2 1 182
220 60 30
5
20
80.4 15
2012 6

25

12

29

20
PMx



18

15

25

2 12

2012



2013

25

2012

12



GPS

25

12



2015
2015

2003
2020

2015

2020

25

12



2020

25 2 12
-
2012 2013 2014 2015
76 89 107 88 140 71 178
38 53 65 74 64 97
18 22 28 32 24 35
8 11 18 15 30 13 45
081 081 081 081

10 049 049 0.49
30 36 7_36 7_36
12.7 13.7 148 -
5,708 6.183 6,660 7137
67 76 85 94
182 175 174 203 169 226

60 43 43 43]1.46*
13 15 18 20
694 800 900 1000

-
2012 2013 2014 2015 2016
T T T
H 1 T

2016 .




2012

1 0.62

2 0.81
0.49

2.73

0.5

0.5

60

0.19 2012
0.19
0 0.19

2013 2015
0.5
2012

0.5

60

10

25

12

2015

36



12

25

0.5

<

2013 2015

2016

e=gus Adults

e={ll=Pair

== fledgling

120

100

80

0.5

2015

2016

60

2015

10



25 2 12

o 0.19 0.5

0.19 2012 0.3 2013 0.4 2014 0.5 2015

2013 2015 7
2016 0
120
=g Adults
@il Pair
100 fledgling
80

60 / g
40

/// B e A e A A A S A}
20 / o~ —————————E—E—E—E—E—8—8—N
f
0 T T T é\\ T T T T T T T T T T T
wgsb @& wg'& ,»Qo @0 w& w&“ m@? "9\? w&“ m& «&”"» w@& P P& ng’ ,é»“’ w@ @'ﬁ’ ,é& ,§>°
0.19-05 2015 60 1
2013 2015 7 36
2016 0 0
63 125
2015 254 169 > 2
2020 355 278
2015 2015
7
254
36 2015 169

11



25 2 12

o 0.19
0.19
2013 2015 9
2016 9
120
=== Adults
e={ll=Pair
100 #e=fledgling
80

. A

60 /
40

0 .
R RO P U I I S Ut it S Ut it (g R g
0.19 4 2015 60 1
2013 2015 9 36
2016 9 9
61 61
2015 248 169 < 2
2020 306 235]\
2012 0.19 2015

12




25 2

12

o 0 0.19
0.19 2012 0 2013 0.19 2014 0 2015
2013 2015 10
2016 12
120
g Adults
esfll==Pair
100 #e=fledgling
80
60
40
/ A A A A A A A A A
A\
0 ; ; ; . . . . . ; ; ; ; . . . . ; ; ;
ERCHI I S G O I I I S UG R R I I I A R R
0 019 2015 60 1
2013 2015 10 36
2016 12 12
62 66 63 66
2015 245 169 =< 2
2020 289 220
2012 0.19 0
10 2016 12

13




